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Marking Scheme: +4 For Correct Answer (One mark will be deducted for wrong answer)
Syllabus
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Instructions :

1. This Booklet is your Question Paper. DO NOT break seal of Booklet until the invigilator
instructs to do so.

2. The Answer Sheet is provided to you separately which is a machine readable Optical
Response Sheet (ORS). You have to mark your answer in the ORS by darkening bubble, as per your
answer choice, by using Black [Blue ball point pen only.

3. Ifyouarefoundinvolvedin cheating or disturbing others then your ORS willbe cancelled.
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Sample Test Paper : Class-X

SECTION — A : PHYSICS

Resistors are connected as shown in the circuit digram. The effective resistance between Aand B is :
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[Electricity]
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SECTION — B : CHEMISTRY

A student took Sodium Sulphate solution in a test tube and added Barium Chloride solution to it. He observed

that an insoluble substance has formed. The colour and molecular formula of the insoluble substance is:
THh B 7 Th RG] 7 ARSI Fowhe &1 aiel ford R I0H IRTAT aeliviss &1 8 Admn | S5 ol &
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[Chemical reactions and equations]
(A) Grey, Ba SO,
(B) Yellow, Ba(SO,),
(C) White, BaSO,
(D) Pink, BaSO,

SECTION — C : BIOLOGY

Which of'the folowing sequenceis correct sequence of sexual reproduction in a flower ?

(A) Embryo, Seedling, Pollination, Fertilization
(B) Pollination, Fertilization, Embryo , Seedling
(C) Seedling, Embryo , Fertilization , Pollination
(D) Pollination, Fertilization, Seedling , Embryo
f=faRad # & & v B # dfd S DY ueRil & 98 &H § ?

[Reprouduction in Animals]
(A) o1, TR, TR, e
(B) TR, o, T, SR
(C
D

) EA S URELCEREND
) URTTOT, S, SfaR, oT




Sample Test Paper : Class-X

SECTION — D : MATHEMATICS

1 1
If the m™ terms of an AP is 0 and the n™ term is o then the (mn)™ termis :
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[Arithmetic Progression]
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If o, B be the roots of m*(x* - x) + 2mx +3 = 0 and m,, m, be the two values of m for which are corrected by
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[Polynomials]
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Ify = 5, then what is the value'of 10y v =y’ is:
afe y=5 8 ar 10y\y> =y> @1 am o g ?
[Polynomial]
(A) 5032 B) 100
(C) 200y5 (D) 50

The length of shadow of'a building , when the sun’s altitude is 60°, 1s 20 m less than that it was when it was
45°, the Height of the Building is :
U SHRA &I BRIT &I odTs, STd JJ I HATS 60° 8, IAH 20 HIC BH © oid g5 45° ofl, TART &I HaTs sFN |

[Some Applications of Trigonometry]

(A) 54.48m
(B) 47.32m
(C) 64.32m
(D) 57.48m




10.

Sample Test Paper : Class-X

Two Triangle ABC and DEF are similar, if area (AABC) =243 ¢cm?, area (ADEF) = 108 cm” and BC = 6¢cm.
Find EF.

a1 2rgs1 ABC 3iR DEF ®a%y 8, afe eawa (AABC) =243 cm?, &@wat (ADEF) =108 cm?3ik BC=6cm B |
EF &7 44 8T |

[Triangles]
(A) 8cm (B) 9cm
(C) 12cm (D) ¥ 9| @18 31

SECTION - E : LOGICAL REASONING & 10
In the evening before Sunset at 6 P.M. Rohit stands in front of a 'Electric board'. If the shadow of Board falls

just left to the Rohit. Then in which direction is Rohit's Face ?
oM H IR B 918 6 p.m. R IR TS fAgd 9IS & 9 el 8 | Ak fagd 91€ o srn s ARkd & 910 # usch
8, d1 AT &1 4o fha faem &1 iR 8 ?

[Direction sense]

(A) East/gw@ (B) North/S<i¥
(C) South/=fer (D) West/uf¥as
Find missing number?

fr=IfoRad anege § 6T S| dY 2

31419 |16
625]36
7187 |64
[Missing Character]
(A) 15 (B) 18
(©) 16 (D) 49




